Science Knowledge -Derivative

[ More Exercise]
—+ Multiple Choice

1. Let f(x)=(1-2x")", then f'(1)= ( )
A. 0 B. —1 C. —60 D. 60

2If f(x)=2Inx—x", then the solution for 7 (x) > 0is ( )

A.(0,1) B.(—o0,-1)U(0,1) C. (-LO)U(L+x)  D.(L+»)
3. Which of the following equations is incorrect ( )
A.(3x2+cosx)':6x—sinx B. (lnx—2")y=l—2xln2

X
C. (2sin2x) =2cos2x D.(Smxj Siciham i
X X
4. The derivative y = 4; is ( )
X +3x-8
3 3
% B. 0 C. 54(4x—+3)2 D. _M
4x° +3 (x"+3x-8) (x"+3x-98)

5. Given that the derivative of f(x)is f (x), and f(x)=x"+3xf (2)+Inx, then the

value of f'(2) is equal to ( )

A 2 B.-2 C.% D.—g

4

6. The tangent line of the function y=x—+1(x¢l) is perpendicular to the line
x_

axty+1=0at (3, 2), therefore, the value of a= ( )
1 1

A. 2 B. C. —— D. —2
2
7. The derivative of y = log, cos’ x (cos x # 0) ( )
log, e
A. -2log,e-tanx B. 2log,e-cotx C. -2log,e-cosx D. —=—
cos” x

-+ Fill in the blank

8. The tangible function for y=sin x at(%,l] is o

10. (x3—1j = , [2xsin(2x+5)] = :

sin x

I1. In a rectangular plane coordinate system xOy, point P is on the curve C:
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y=x>—10x+3 I, and in the second quadrant. Given that the slope of the tangent line
of curve C at point P is 2, then the coordinate of point P is

=. Free Response

12. Given that f(x) =cosx, g(x)=x, Find the value of x, so that /'(x)+ g'(x) <0

13. (1) y=sin’x+sinx’;; findy'

(2) Given that f(x) = (x +V1+x*)", ﬁnd% o
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1
14. Find the tangible equation for y=———at (1,—).
8 a 4 GBx+x?)* ( 16)

15. Given that f(x) = xlnx+le"2 y gx)=1"'(x), G(x)=g'(x), FindG'(x)-
X



